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DO NOW

In a circle with a diameter of 24 cm, a central angle

4
of T}T radians intercepts an arc. The length of the

arc, In centimeters, 1s
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o The arc measure of the central angle of an entire
circle 1s 360°

» The radian measure of the central angle of an entire
circle is 27

360° (degrees) = 2z (radians)
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To change To change
from degrees to radians, from radians to degrees,
_ T
multiply degrees by @ multiply radians by 180
4
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1. Convert 60° to radians. 3. Convert to == degrees.
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2. Convert 135° to radians. 4. Convert to % degrees.
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Find the length of an arc subtended by an angle of %[

radians 1n a circle of radius 20 centimeters.
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